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1. (14 pts) Balance the equation and show your work. XeF:(s) reacts with water

according to the following unbalanced D)
e &
@hﬁ{l 10()  Xe(g) +O:(g) + HF(9)

Assuming you have 38.3 g of XeF3(s) and a stoichiometric amount of water
present and that the reaction goes to completion; report the number of moles of
HF(g) and the number of grams of HF(Q) formed.
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2. (14 pts) Assuming the reaction in Question 1 takes place in a container held

at a constant pressure of 743 Torr and a constant temperature of 24°C,
determine the partial pressure of HF(g). Show all your work.
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